Lecture 1

WE HAVE DESCRIBED A PRODUCER’S BEST OUTPUT DECISION

CONTINUE TO INCREASE OUTPUT AS LONG AS PRICE (BENEFIT) EXCEEDS MARGINAL COST (AND PRICE EXCEEDS AVERAGE COST)

OUR PRODUCERS THEREFORE ACT AS IF THEIR OUTPUT DOES NOT IMPACT THE PRICE

THEY ARE ACTING AS  PRICE TAKERS
FACING A “PERFECTLY ELASTIC” DEMAND

CAN SELL AS MUCH OR AS LITTLE AS PRODUCER WANTS AT THE MARKET PRICE

BUT DEMAND IS NEGATIVELY SLOPED??

MORE CAN BE SOLD ONLY AT A LOWER PRICE

WHEN DOES IT MAKE SENSE FOR A PRODUCER TO ACT LIKE A PRICE TAKER??

CONSIDER THE SALE OF WHEAT

ELASTICITY IS ABOUT -1

THERE ARE ABOUT 100,000 SELLERS EACH SELLING 50,000 BUSHELS (5,000,000,000 TOTAL) AT A PRICE OF $5.

WHAT WILL HAPPEN TO THE PRICE IF A PRODUCER CONSIDERS DOUBLING OUTPUT??

PERCENTAGE CHANGE IN TOTAL OUTPUT =


(50,000/5,000,025,000) = .00001 = 1/10,000 %

REQUIRES A 1/10,000% REDUCTION IN PRICE

NEW PRICE IF PRODUCER DOUBLES OUTPUT =


.99999 x $5.00 = $4.99995  (-$2.50 FOR 50,000bu)

EFFECTIVELY A WHEAT SELLER IS A PRICE TAKER

GENERAL CONDITIONS


1.  LOTS OF SELLERS


2.  SELLING VERY SIMILAR GOODS


3.  TO BUYERS WITH KNOWLEDGE OF OPTIONS

CONSIDER THE NUMBER OF SELLERS

FIVE WHEAT SELLERS EACH SELLING 50,000

IF ONE DOUBLES OUTPUT THEN PERCENTAGE CHANGE IN QUANTITY = 50,000 \ 275,000 = 18.2%

PRICE WILL FALL TO ~ 82% x $5.00 = $4.10

WHICH MEANS THE REVENUE CHANGE WILL BE 

(100,000 bu x $4.10 = $410,000  MINUS $250,000 =)

$160,000  (RATHER THAN $250,000)

A SUCCESSFUL PRODUCER BETTER TAKE INTO ACCOUNT THE FACT THAT THEIR OUTPUT EFFECTS THE PRICE.  TO SELL MORE, PRICE WILL FALL

CONSIDER THE WAYS IN WHICH SELLERS’ GOODS DIFFER

MILLER IS NOT EXACTLY THE SAME AS BUD

- INCREASE PRICE 50 CENTS PER 6 PACK AND ONLY

  SOME MILLER DRINKERS WILL SWITCH

- MILLER FACES A “DOWNWARD SLOPING DEMAND”

- IF THEY WANT TO SELL MORE, THEY MUST LOWER   

  THE PRICE

SAFEWAY ON 50TH IS A LOT FURTHER FROM MY HOME THAN QFC ON 145TH.
CONSIDER THE EFFECT OF BUYER’S IN-COMPLETE KNOWLEDGE OF ALTERNATIVES (QUALITY AND PRICE)

YOU WANT TO BUY A GE COFFEE MAKER.  YOU FIND ONE AT RITE AID FOR $30.  SHOULD YOU BUY??

IF RITE AID RAISES PRICE, IT LOSES ONLY THOSE CONSUMERS WHO BELIEVE THERE IS A BETTER DEAL AVAILABLE (GIVEN THE COST OF ADDITIONAL SHOPPING)

RITE AID FACES A DOWNWARD SLOPING (RATHER THAN A FLAT - PERFECTLY ELASTIC - ) DEMAND

NEARLY ALL RETAIL SELLERS MUST LOWER PRICE TO SELL MORE AND WILL LOSE ONLY SOME SALES IF THEY RAISE PRICE

-------------------
Lecture 2

SUCH SELLERS WILL BE EXPECTED TO TAKE INTO ACCOUNT THE FACT THAT ITS OUTPUT AFFECTS THE PRICE.  AN INCREASE IN PRICE WILL REDUCE SALES BUT NOT TO NEAR ZERO.

SUCH A SELLER MUST “SEARCH” FOR THE BEST PRICE-QUANTITY RESULT

SUCH A SELLER IS A “PRICE SEARCHER”

HOW DO SELLERS WITH CONTROL OVER PRICE CHOOSE (THROUGH SUPPLY CHANGES) THE BEST PRICE AND OUTPUT ?

USING THE FUNDAMENTAL PRINCIPLE OF MICROECONOMICS  -- CONSIDER THE BENEFITS AND COSTS OF ADDITIONAL SALES

--THE COST SIDE IS NOT CHANGED CONCEPTUALLY FROM THE WHEAT FARMER - THE COST OF AN ADDITIONAL UNIT SOLD IS GIVEN BY MARGINAL COST

--THE BENEFIT OF AN ADDITIONAL SALE IS NO LONGER EQUAL TO THE PRICE BECAUSE TO SELL MORE THE PRICE IS LOWERED.

ASSUME THE FOLLOWING DEMAND AT SAFEWAY FOR PEPSI COLA
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MARGINAL COST IS $3 EACH 

SAFEWAY WILL DO BEST BY CONTINUING TO LOWER PRICE AS LOW AS THE ADDED REVENUE EXCEEDS THE MARGINAL COST.  

The best output is therefore 4 – with the correspondent price of 7.  

to sell the 5th unit, revenue will only increase by 2.  But the added cost would be $3.

WITH PRICE SEARCHERS   PRICE-OUTPUT RULE - 

EXPAND OUTPUT AS LONG AS MARGINAL REVENUE (WHICH IS BELOW PRICE) IS GREATER THAN MARGINAL COSTS (AND PRICE IS EQUAL TO OR ABOVE AVERAGE COST)

JUST AS FOR PRICE TAKERS 

PRICE SEARCHERS WILL USE CURRENT MARKET PRICE AS INDICATOR OF HAVING A COMPARATIVE ADVANTAGE (WHETHER TO ENTER OR LEAVE AN INDUSTRY)\

CONSIDER SAFEWAY EXAMPLE

LOTS OF PEOPLE MAY BE ABLE TO APPROXIMATE THE COSTS.

SHOULD YOU ENTER?
IF PRICE ABOVE AVERAGE COST - yes.

IF YOU ENTER, WHAT HAPPENS TO SAFEWAY’S DEMAND AND COST SITUATION?

DEMAND PARAMETER - THE PRICE OF SUBSTITUTES!
??LONG RUN EQUILIBRIUM??

NO EXPECTATION THAT PROFIT LEVELS ARE ANY HIGHER IN PRICE SEARCHER THAN IN PRICE TAKER INDUSTRIES

PROFIT IS EARNED BY

 SUPERIOR EFFICIENCY

 LOWER COSTS 

 BETTER PREDICTIONS OF DEMAND

 LUCK
WE HAVE DESCRIBED SIMPLE PRICING -- ONE PRICE  -  SAME TO ALL

CONSIDER THIS RESULT REMEMBERING THAT SELLERS ARE ATTEMPTING TO BETTER THEMSELVES

EVEN THOUGH THE SELLER “OWNS” THE DEMAND, THE CONSUMERS RECEIVE SURPLUS AND SOME POTENTIAL GAINS FROM TRADE ARE WASTED

THE SUCCESSFUL SELLERS WILL BE CREATIVE IN PRICING EXPANDING AND CAPTURING THIS SURPLUS

SETTING DIFFERENT PRICES TO DIFFERENT BUYERS  (PRICE DISCRIMINATION)

SETTING HIGHER PRICES FOR UNITS OF HIGHER MARGINAL VALUATION (QUANTITY DISCRIMINATION)

PRICE DISCRIMINATION

--SOME BUYERS WILL NOT RESPOND MUCH TO PRICE INCREASES (INELASTIC BUYERS); OTHERS WILL RESPOND A LOT (ELASTIC BUYERS). 

--A SELLER WILL MAXIMIZE PROFIT BY RAISING THE PRICE TO THOSE THAT WILL NOT RESPOND MUCH.

PRICE DISCRIMINATION - CHARGING LESS ELASTIC BUYERS HIGHER PRICES.

(SEE BELOW FOR A DETAILED EXAMPLE OF STUDENTS VERSUS FAMILY DEMANDERS OF SAFEWAY DONUTS)

HOW DOES A SELLER IDENTIFY THE INELASTIC BUYERS??

USE OF PROXY VARIABLES

HOW DOES A SELLER PREVENT RESALE??

MOST EFFECTIVE FOR GOODS WHERE PURCHASE AND CONSUMPTION ARE LINKED.

EVEN WITH PRICE DISCRIMINATION, THE BUYERS END UP WITH “CONSUMER SURPLUS”

OTHER WAYS OF CREATIVE PRICING CAN TRANSFER (SOME OF) THIS TO THE SELLER

QUANTITY DISCRIMINATION  (SEE DETAILED EXAMPLE IN NOTES) 

- CHARGING DIFFERENT PRICES DEPENDING ON HOW MUCH THE BUYER PURCHASES (1 FOR 10 CENTS, 3 FOR 25 CENTS)

- CHARGING AN “ADMISSION FEE” FOR THE RIGHT TO BUY  (DISNEYLAND; COSTCO)

- BUNDLING - SELLING A GROUP OF PRODUCTS TO BUYERS WITH DIFFERENT VALUES FOR A SINGLE COMBINATION PRICE

EXAMPLE - KEITH’S BURGER SHOP

	
	CHRIS’S VALUE
	KIM’S VALUE
	MARGINAL COST

	FRIES
	$.50 
	$.70 
	$.25 

	BURGER
	$1.50
	$1.10
	$.50


OPTION 1 - SET INDIVIDUAL PRICES ON FRIES AND BURGERS


FRIES PRICE 

$.50         SELL TWO   SURPLUS  $.50 


BURGER PRICE   $1.10         SELL TWO   SURPLUS $1.20 



TOTAL SURPLUS     $1.70

OPTION 2 - SET “FULL MEAL DEAL PRICE” 


FRIES AND BURGER PRICE  $1.80 SELL TWO 



TOTAL SURPLUS    ($3.60-$1.50) = $2.10

SAFEWAY EXAMPLE PRICE DISCRIMINATION EXAMPLE

START WITH SIMPLE PRICING  - DEMAND GIVEN BY

PRICE
    DEMAND OF       MARKET       
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MARGINAL COST = 15 CENTS

BEST PRICE 50 CENTS;  SELL 16 DONUTS

MAKE SELLERS’ SURPLUS OF ($8.00 - $2.40 (=16 x 15)) $5.60

GET MORE CREATIVE - TRY TO SET SEPARATE PRICES TO THE STUDENT AND TO THE FAMILY

SEPARATE DEMANDS



 STUDENT


     FAMILY

PRICE    STUDENT   REVENUE               FAMILY    REVENUE 
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BEST PRICING



     STUDENT                  

FAMILY
PAYS 

     60 CENTS         


40 CENTS

BUYS 
            5



       15

SELLER GAIN  ($3.00 - .75)


($6.00 - 2.25)



=

  $2.25

      $3.75

TOTAL = $6.00   

QUANTITY DISCRIMINATION

CONSIDER THE STUDENT DEMAND FOR DONUTS

PRICE    DEMAND            TOT REV         MARG REV      TOTAL VALUE
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  MARGINAL COST = $.15

SIMPLE PRICING  P=$.60, Q=5, “PROFIT”=$2.25 

ALTERNATIVES 

1.  SELL 1ST for $1, 2ND for 90¢, …, 9TH for 20¢.

2.  SELL A BOX WITH 9 FOR $5.40

3.  Set Price equal to 15¢, store admission fee of $4.05. 

SELLER SURPLUS = ($5.40-1.35) =$4.05
Lecture 3
PARAMETER OF THE INDIVIDUAL SELLER’S DEMAND - PRICES OF SUBSTITUTES

MAIN SUBSTITUTES - GOODS OF OTHER SELLERS IN THE INDUSTRY 

AN INDIVIDUAL SELLER’S DEMAND ASSUMES COMPETITORS’ PRICES ARE FIXED

WHAT HAPPENS IF ALL COMPETITORS IN AN INDUSTRY CHANGE PRICE TOGETHER?

THE DEMAND FACING EACH SELLER BECOMES “LESS ELASTIC”

-THE SELLER’S “BEST” PRICE GOES UP

-THE SELLER MAKES A LOT MORE MONEY

-THE SOCIAL GAINS FROM TRADE REDUCED

COLLUSION - NAME GIVEN TO SELLERS’ COOPERATING IN PRICING RATHER THAN COMPETING

THERE IS ALWAYS AN INCENTIVE FOR SELLERS TO COOPERATE  BUT IF OTHERS COOPERATE AN INDIVIDUAL SELLER CAN DO EVEN BETTER BY UNDERCUTTING THE HIGH COOPERATIVE PRICE

ILLUSTRATION OF PROBLEM FACING SELLERS TRYING TO COOPERATE

 



        PROFITS TO AN INDIVIDUAL SELLER
Me (you)

	
	I COOPERATE
	I UNDERCUT THE COOPERATING PRICE

	YOU COOPERATE
	          100 (100)
	         150 (20)

	
	
	

	
	
	

	YOU UNDERCUT THE COOPERATING PRICE
	          150   (20)
	           50 (50)


SUCCESS IN COLLUDING OR COOPERATING OCCURS WHEN UPPER LEFT PROFIT IS LARGE, THE UPPER RIGHT IS NOT TOO MUCH BIGGER 

IT IS MORE LIKELY THAT COOPERATION OCCURS WHEN 

1.  RECOGNITION THAT CHEATING WILL LEAD TO COLLAPSE OF COOPERATIVE PRICE

-FEW SELLERS



-PREANNOUNCED PRICE INCREASES

-GOOD INFORMATION ABOUT   COMPETITOR’S PRICES

2.  LOTS TO GAIN

-INELASTIC DEMAND

-ENTRY IS DIFFICULT

-WON’T BE ANTITRUST VIOLATION

ANTITRUST LAW - SHERMAN ACT

ILLEGAL TO 

1.  AGREE WITH COMPETITORS ABOUT PRICE


PER SE ILLEGAL

2.  MONOPOLIZE AN INDUSTRY

SINCE A SELLER CAN MONOPOLIZE AN INDUSTRY BY HAVING A BETTER PRODUCT OR A LOWER PRICE NOT PER SE ILLEGAL - REQUIRES “ABUSE”

MICROSOFT CASE
IS MICROSOFT A “MONOPOLIST”?

(ABILITY TO CONTROL PRICE AND LIMIT ENTRY)

CONTROL OPERATING SYSTEMS ON 90% PCs

BUT CONTROL OPERATING SYSTEMS ON 20% MIPS

COST OF WINDOWS = $20 OF $2000 COMPUTER  1%

BUT P/MC VERY HIGH, PROFIT VERY HIGH 

NO ENTRY, PER MANUFACTURER LICENSES

BUT NO ENTRY ONLY BECAUSE OF LOW PRICE AND HIGH QUALITY

WE NOW HAVE AN UNDERSTANDING OF  THE FACTORS INFLUENCING THE MARKET VALUE OF GOODS AND SERVICES TURN TO THE PRICES OF THE FACTORS USED IN PRODUCTION

AVERAGE FAMILY INCOME ~$45,000  SOURCES OF INCOME IN THE U.S.

1.  SALE OF LEISURE


74%

2.  RENTAL OF CAPITAL


13%

3.  SALE OF RESOURCES


 8%

4.  PROFIT
(NET OF LOSSES)

 4%

~85 PERCENT OF “INCOME” COMES FROM PAYMENTS TO THE LABOR FACTOR OF PRODUCTION

TO UNDERSTAND MOST OF THE SOURCE OF INCOME, WE WILL INVESTIGATE THE DETERMINANTS OF THE VALUE OF SELLING LEISURE

LEISURE IS AN ECONOMIC GOOD  -  THE MARKET VALUE OF GOODS IS DETERMINED BY   SUPPLY  AND  DEMAND
THE DEMAND FOR LABOR  

LABOR IS DEMANDED BECAUSE IT PRODUCES VALUABLE PRODUCT AS MORE LABOR IS USED IN A PARTICULAR PRODUCTION PROCESS, OUTPUT WILL RISE
AT FIRST, INCREASED LABOR INPUTS CAUSE OUTPUT TO TYPICALLY RISE AT AN “INCREASING RATE” (INCREASED USE OF SPECIALIZATION – NOTE THAT THIS IS THE ANALOGUE TO THE FALLING PORTION OF MARGINAL COST)

CALLED “INCREASING RETURNS TO SCALE”  

HOWEVER EVENTUALLY “DIMINISHING RETURNS” SETS IN

DIMINISHING RETURNS - DOUBLE ALL VARIABLE INPUTS RESULTS IN LESS THAN A DOUBLING OF OUTPUT

YOU INTUITIVELY KNOW THAT DIMINISHING RETURNS IS A FACT OF LIFE BECAUSE OTHERWISE IT WOULD NECESSARILY BE EFFICIENT TO HAVE THE TOTAL AMOUNT OF A GOOD PRODUCED IN THE SMALLER POSSIBLE FACILITY

E.G. – PRODUCE THE WORLD’S SUPPLY OF WHEAT IN A FLOWER POT. 

A REPRESENTATIVE PRODUCTIVE PROCESS

KEITH’S HUSKY T-SHIRT SHOP
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EMPLOYMENT DECISION - HIRE ADDITIONAL WORKERS IF THE BENEFIT 

    EXCEEDS
THE COST

THE BENEFIT FROM ADDITIONAL WORKERS

PRICE OF SHIRTS

= 
$15

MATERIALS COST
=
$10

HUSKY LICENSE FEE
=
 $3

-> VALUE OF A MARGINAL PRODUCT =  $2      (=$15-10-3)

COST PER WORKER (WAGE)

  =  $5.50

EMPLOYMENT DECISION - HIRE ADDITIONAL WORKERS IF THE BENEFIT (VALUE OF THE MARGINAL PRODUCT)  EXCEEDS THE COST (THE WAGE RATE)

THE DEMAND FOR LABOR FOR AN INDIVIDUAL FIRM IS GIVEN BY THE DECLINING
     PORTION OF THE VALUE OF THE MARGINAL PRODUCT

THE MARKET WAGE RATE IS DETERMINED BY THE DEMAND BY ALL “EMPLOYERS” 

    AND THE SUPPLY OF LABOR SERVICES

BASIC THEORY OF WAGE DETERMINATION  SUPPLY AND DEMAND

SUPPLY - determined by people’s willingness to give up their leisure

Higher wage - greater willingness to substitute leisure for other goods


BUT Higher income - greater the demand for leisure

DEMAND - add employees as long as the Value of the Marginal Product exceeds the wage

Parameters of demand - available capital (can increase or decrease demand)


    - output price


    - other input prices
VARIANCE IN WAGES ACROSS WORKERS EXPLAINED BY

1.  ABILITY; 2.  EDUCATION; 3.  EXPERIENCE; 4.  EFFORT;
5.  LUCK (CHANGES IN THE DEMAND OR SUPPLY); 6.  UNIONS;
7.  DISCRIMINATION; 8.  JOB CHARACTERISTICS

EDUCATION - RATE OF RETURN ON INVESTMENT ~ 10%.

??DOES YOUR PRODUCTIVITY INCREASE BY 10%??

HOW DO EMPLOYERS MEASURE AND REWARD ABILITY AND EFFORT?

USE PROXY VARIABLES

NEATNESS OF APPLICATION

TIE AT INTERVIEW

IS A COLLEGE DEGREE A PROXY FOR WORK RELATED EFFORT?

INVESTING IN EDUCATION REQUIRES YOU TO SPECULATE  -- 

WHAT WILL WAGES BE WHEN YOU GRADUATE??

MANY OTHER INVESTMENT SITUATIONS ALLOW RISK TO BE “TRADED” TO SPECULATORS.  SPECULATORS THEN ASSURE THAT CURRENT PRICES CARRY INFORMATION ABOUT FUTURE PRICES.  HOWEVER, THERE IS NO “FUTURES MARKET” FOR LABOR AND ALSO NO ABILITY TO HOLD INVENTORIES. 

THEREFORE, THERE IS NO MARKET MECHANISM TO 

- TRANSFER RISK

- CAUSE CURRENT PRICES TO INCORPORATE             

  EXPERTS PREDICTIONS

AS A CONSEQUENCE, EDUCATION MARKETS CAN AND DO EXHIBIT PRICE CYCLES

UNIONS

1.  ACT AS INFORMATION CONDUIT CONCERNING PUBLIC GOODS ASPECTS OF EMPLOYMENT  -BENEFIT PROGRAMS; -WORKING CONDITIONS; -HOURS

2.  SUPPRESS COMPETITION AMONG EMPLOYEES 
- RAISING WAGE ABOVE WHERE SUPPLY EQUALS DEMAND

EFFECT:  CREATES A “JOB SHORTAGE”

DO UNIONS INCREASE THE WAGES TO WORKERS??

WHY ARE UNIONS FREQUENT TARGETS OF DISCRIMINATION LAWSUITS??

WHY ARE UNIONS VIGOROUS SUPPORTERS OF INCREASED MINIMUM WAGES; 

INCREASED TARIFFS ON IMPORTS?

DISCRIMINATION IN WAGES

WAGE DISCRIMINATION OCCURS WHEN WAGE DIFFERENCES ARE BASED ON PERSONAL CHARACTERISTICS 

-AGE; -SEX; -RACE; -APPEARANCE

STATISTICAL DISCRIMINATION - PERSONAL CHARACTERISTICS CORRELATED WITH SOME FACTOR IMPORTANT IN EMPLOYMENT  -EXPECTED LONGEVITY;
-EXPECTED UNINTERRUPTED EMPLOYMENT

     AVERAGE WAGE EQUALS V. M. P.

TASTE BASED DISCRIMINATION - PERVERSE TASTE OF (EMPLOYER, FELLOW EMPLOYEES, CUSTOMERS) REQUIRES COMPENSATION TO EMPLOY

     AVERAGE WAGE IS LESS THAN V. M. P.

TASTE DISCRIMINATION CREATES PROFIT OPPORTUNITY

MALE AND FEMALE WAGE DIFFERENCES

      AVERAGE WEEKLY EARNINGS

MALES

$648

FEMALES
            $279
(43%)

FULL TIME
MALES

$765

FEMALES
            $543
(71%)

PROFESSIONALS
MALES

$849

FEMALES
            $671
(79%)

FULL TIME, COLLEGE GRAD, 25-34
MALES

$712

FEMALES
            $584
(82%)

OB GYN, FULL TIME
MALES

$3500

FEMALES
            $3038
(82%)

OB GYN, FULL TIME, SELF EMPLOYED
MALES

$3269

FEMALES
            $2877
(88%)

OB GYN, FT, SELF EMPLOYED, NEVER MARRIED

MALES

$3138

FEMALES
            $3013
(96%) 

JOB CHARACTERISTICS

WHAT DETERMINES WHETHER EMPLOYEE IS PAID MORE OR LESS FOR PARTICULAR ASPECTS OF EMPLOYMENT??

DAY VERSUS NIGHT WORK

INSIDE VERSUS OUTSIDE

MENTAL VERSUS PHYSICAL

NO INTRINSIC BASIS TO VALUE THESE FACTORS - MARKET VALUE GIVEN THROUGH INTERACTION OF THE DEMAND FOR WORKERS IN VARIOUS JOBS AND THE TASTE OF WORKERS

COMPARABLE WORTH - ATTEMPT TO DETERMINE VALUE OF JOB CHARACTERISTICS THROUGH SURVEYS OF WORKERS  

ECONOMIC APPROACH - MARKET GIVES THE EQUILIBRIUM VALUE.  COMPARE VALUES WITH COMPETITION TO VALUES IN SECTOR PROTECTED FROM COMPETITION.

EXAMPLE - UNIVERSITY OF WASHINGTON COMPARABLE WORTH STUDY 

SURVEY OF WORKERS FOUND THAT THE JOB CHARACTERISTICS FOR A TRUCK DRIVER 1 WERE EQUALLY VALUED TO THOSE OF A SECRETARY 1.

BUT 

UW TRUCK DRIVERS 
          - 98% MALE 






- $480 per week

UW SECRETARIES

- 92% FEMALE






- $360 per week

DOES THIS DATA INDICATE DISCRIMINATION AGAINST FEMALES??

PRIVATE SECTOR, NON-UNION

TRUCK DRIVERS 

            - 89% MALE 






- $380 per week

SECRETARIES


- 94% FEMALE






- $335 per week

USE OF MARKET VALUES OF JOB CHARACTERISTICS TO ASSIST IN EFFICIENT SOCIAL DECISIONS - EXAMPLE OF JOB SAFETY

RISKY JOBS
- EXTRA DEATHS PER YEAR





- CHOKE SETTERS
     50/10,000





- FACTORY PAINTERS
     35/10,000





- STREET POLICE                   25/10,000





- COLLEGE PROFESSORS   -10/10,000

WAGE ANALYSIS - RECEIVE EXTRA $1,000 PER YEAR PER 1 PER 1000 EXTRA DEATH RISK

??VALUE OF A LIFE = $1,000,000

MOUNT SI - 500,000 HIKERS  - 1 DEATH PER YEAR

GUARD RAILS WOULD PREVENT  -- COST $50 MILLION  -- EFFICIENT??

PROFESSOR LEFFLER IS DANGLING OFF A BRANCH  -  $5,000,000 TO SAVE - EFFICIENT??
UNEMPLOYMENT

IF COMPETITION AMONG EMPLOYERS AND WORKERS LEADS TO AN EQUILIBRIUM WAGE, HOW DOES UNEMPLOYMENT OCCUR?

??NOT ENOUGH JOBS??

UNEMPLOYMENT - THE SUPPLY OF LABOR EXCEEDS THE DEMAND AT THE CURRENT WAGE LEVEL.  PROBLEM - WAGE IS TOO HIGH

WE EXPECT COMPETITION FOR THE “SCARCE” JOBS TO LEAD TO LOWER WAGES

ECONOMIC FACTORS THAT CAN EXPLAIN INFLEXIBILITY IN THE WAGE

- PRICE CONTROLS (MINIMUM WAGES, UNIONS)

- UNCERTAINTY AND THE COSTS OF RAPID ADJUSTMENTS

HOW DOES UNCERTAINTY AND THE COSTS OF ADJUSTMENTS LEAD TO UNEMPLOYMENT?

CONSIDER AN ADJUSTMENT

DOT COMs GO BELLY UP

       DEMAND DOWN FOR PROGRAMMERS;  DEMAND UP IN ?? 

??INVESTMENT ADVISE?? ANTITRUST? HOME REMODEL??

WHAT’S THE NEEDED SOCIAL RESPONSE

HIGH TECH WORKERS RETRAIN AS CARPENTERS?

WHAT WILL WE OBSERVE AT CISCO?  LAYOFFS

WHAT’S THE LAID OFF CISCO WORKER LIKELY TO DO?

HE OR SHE IS A “$65,000 SKILLED WORKER”

   LOOKS FOR A JOB AT OTHER TECH FIRMS

   LOOKS FOR A JOB AT MIS DEPARTMENTS OF OTHER FIRMS

   LOOKS FOR COMPARABLE SKILL JOB IN THE AREA

   LOOKS FOR COMPARABLE SKILL JOB OUT OF AREA 

   TAKES EARLY RETIREMENT (ON UNEMPLOYMENT)

       EVENTUALLY LEARNS HE OR SHE IS NO LONGER A $65,000 SKILLED WORKER.

CHANGE THAT LEADS TO REDEPLOYMENT OF LABOR RESOURCES INTO DIFFERENT SECTORS OF THE ECONOMY CAUSES UNEMPLOYMENT  SINCE IT TAKES TIME FOR WORKERS TO REALIZE THAT THE VALUE OF THEIR SERVICES HAS CHANGED

EXAMPLES OF CHANGES THAT CAUSE UNEMPLOYMENT

OPEN UP FREE TRADE WITH MEXICO

CONSUMERS INCREASE SAVINGS

GOVERNMENT CUTS DEFENSE SPENDING
-------------

WE HAVE LEARNED THAT   --  PRICES DIRECT ECONOMIC ACTIVITY

  COST AND BENEFIT OF AN ACTION IMPACTS 

WHAT GOODS PEOPLE BUY

WHAT JOBS PEOPLE CHOOSE

WHAT INDUSTRY ENTREPRENEURS ENTER

WHETHER PEOPLE GET MARRIED

SUPPLY - DEMAND & EQUILIBRIUM PRICE IMPLY THAT -- ALL GOODS WHOSE VALUE TO THE BUYER EXCEEDS THE COST TO THE SELLER ARE PRODUCED;  ALL GOODS WHOSE VALUE IS LESS THAN THE COST ARE NOT PRODUCED

THE INVISIBLE HAND OF COMPETITION DIRECTS TO THE MAXIMUM PRODUCTION

I HAVE ASSUMED THAT INDIVIDUALS’ AND FAMILIES’ DECISIONS AND ACTIONS AFFECT ONLY THEMSELVES - but not always the case!

EXTERNAL EFFECTS - consumption, production or exchange decisions impact parties not part of the decision.

CONSIDER A PARTICULAR TYPE OF GOOD to illustrate the general problem that arises when externalities are present.

PUBLIC GOOD - CONSUMPTION BY ONE DOES NOT REDUCE THE AMOUNT AVAILABLE FOR OTHERS TO CONSUME.  Examples -  PYTHAGORIAN THEOREM; MUSICAL COMPOSITION

SOME “LOCAL” PUBLIC GOODS CAN ONLY BE CONSUMED BY A LIMITED NUMBER OF CONSUMERS -- THE PERFORMANCE OF A MUSICAL COMPOSITION; THIS LECTURE

??WILL THE MARKET LEAD TO THE CORRECT AMOUNT OF PUBLIC GOODS??

UNLIKELY -- THE FREE RIDER PROBLEM
EXAMPLE – A FENCE BETWEEN MY NEIGHBOR’S AND MY YARDS

HEIGHT

MARGINAL VALUE
                        MARGINAL         SOCIAL 

 (FEET)

ME

NEIGHBOR                             COST                        MV

    1
100
100
180
200



2
150
200
180
350


3
200
300
180
500


4
250
400
180
650

5
150
300
180
450


6
100
100
180
200


7
  25
  50
180
  75

        COST  $180 PER FOOT OF HEIGHT

EFFICIENT FENCE HEIGHT?? 

- ADD HEIGHT IF THE COMBINED MARGINAL VALUE EXCEEDS THE MARGINAL COST.

IF BELIEVE MY NEIGHBOR WILL REVEAL HIS VALUE, WHAT SHOULD I DO IN MY SELF INTEREST??    REVEAL NO VALUE  STILL GET 5 FEET.

FREE RIDER PROBLEM – I CAN BENEFIT FROM YOUR PRODUCTION OF A PUBLIC GOOD SINCE YOU GET TO CONSUME EVEN IF DO.

MARKET PRODUCTION AND ALLOCATION OF GOODS WILL BE EFFICIENT WHEN THE BENEFITS AND COSTS ARE IMPOSED ON THE INDIVIDUALS’ MAKING THE PRODUCTION AND CONSUMPTION DECISIONS

WHEN INDIVIDUALS OTHER THAN THE PRODUCTION OR CONSUMPTION DECISION MAKERS ARE IMPACTED NO LONGER DOES THE INVISIBLE HAND OF THE MARKET IMPLY EFFICIENCY

SINCE PUBLIC GOODS ARE AVAILABLE TO ALL, THIS IS AN EXAMPLE IN WHICH MARKET PRODUCTION MAY BE INEFFICIENT
WITH EXTENSIVE PUBLIC GOODS (E.G., PROTECTION)  THE EXPECTED IMPACT ON THE EQUILIBRIUM QUANTITY FROM AN INDIVIDUAL UNDER REVEALING VALUE (ATTEMPTING TO FREE RIDE) IS TIVIAL

WE THEREFORE EXPECT THE PRIVATE PRODUCTION OF PUBLIC GOODS TO LEAD TO PRODUCTION LEVELS BELOW THE EFFICIENT AMOUNT

IS GOVERNMENT PRODUCTION A SOLUTION??

- GOVERNMENT CAN SEPARATE REVEALED VALUE FROM PAYMENT


- CREATES INCENTIVE TO OVERSTATE VALUE

- TENDS TO LEAD TO TOO MUCH PRODUCTION (GAINS CONCENTRATED, 
   COSTS DISPERSED)

WHAT ECONOMIC JUSTIFICATIONS ARE THERE FOR GOVERNMENT PRODUCTION?

GOODS WHERE FORCE IS AN IMPORTANT INPUT OR OUTPUT

TAX FINANCED GOODS WHERE PAYORS DESIRE DIFFERENT ATTRIBUTES THAN CONSUMERS

THE FREE RIDER PROBLEM RESULTS FROM A PARTICULAR CASE IN WHICH INDIVIDUAL’S DECISIONS ABOUT THE “USE” OF THEIR GOODS IMPOSES BENEFITS ON OTHER PEOPLE  AN ECONOMIC EXTERNALITY

EXTERNALITIES CAN BE POSITIVE - OTHERS BENEFIT

DRESS NICE FOR CLASS

GET YOUR MEASLES SHOT

OR NEGATIVE - OTHERS LOSE

THROW LITTER OUT YOUR CAR

SMOKE NEAR ME

PLAY LOUD HEAVY METAL MUSIC

NO LONGER WILL PURSUIT OF PRIVATE INTEREST LEAD TO THE EFFICIENT OUTCOME!  THE RELEVANT DECISION MAKERS WILL NOT TAKE INTO ACCOUNT THE COSTS OR BENEFITS OF OTHERS

ECONOMIC EXTERNALITIES OCCUR ONLY WHEN AFFECTED INDIVIDUALS WERE NOT PART OF DECISION

DON’T CONFUSE “COSTS” WITH “EXTERNALITIES”

CONSIDER NOISE POLLUTION 


WAS THERE NOISE POLLUTION AT THE J&M CAFE ON FRIDAY??


HOW ABOUT FROM JET PLANES AT SEA-TAC



FOR BAGGAGE HANDLERS?? 



FOR PEOPLE LIVING BY RUNWAYS??

JUST BECAUSE AN ACTIVITY CAUSES AN EXTERNALITY DOESN’T IMPLY THE ACTIVITY IS UNDESIREABLE

IS POLLUTION BAD?


SOME POLLUTION IS DESIREABLE  

(CARS - the value of driving exceeds the cost of dirty air,  JET TRAVEL - value exceeds cost of noise)


ISSUE IS HAVING THE RIGHT AMOUNT OF POLLUTION

amount where the cost of reducing the pollution is no longer less than the cost of the pollution 

WHY ARE THERE EXTERNALITIES?

ALL EXTERNALITY PROBLEMS CAN BE CONSIDERED BARGAINING PROBLEMS

WHEN INDIVIDUALS CAN BARGAIN, THE ALLOCATION OF RIGHTS 

(e.g., WHETHER SMOKERS HAVE THE RIGHT TO SMOKE OR I HAVE THE RIGHT TO CLEAN AIR, e.g., WHETHER SALMON LOVERS HAVE THE RIGHT TO SALMON OR I HAVE THE RIGHT TO CHEAP POWER)

SHOULD NOT AFFECT THE USE - THE EFFICIENT OUTCOME IS EXPECTED
CALLED THE COASE THEOREM
EXAMPLE

MY NEIGHBOR LIKES TO TUNE UP HIS HARLEY AT 7am ON NICE SATURDAY MORNINGS; I LIKE TO SLEEP UNTIL 8am.

HE IS HOWEVER WILLING TO SUBSTITUTE FOR THE EARLY START; I AM WILLING TO SUBSTITUTE FOR THE SLEEP

HE WOULD GIVE UP THE EARLY START FOR A CASE OF HEINEKEN (COST $18)

I WOULD GIVE UP THE SLEEP TO HAVE MY LAWN MOWED (COST $20)

EFFICIENCY REQUIRES - THAT HE WAITS AND I SLEEP!

AS LONG AS WE CAN CHEAPLY BARGAIN THIS OUTCOME IS EXPECTED EVEN IF THE LAW ALLOWS NOISE BEGINNING AT 7am.

IF I GO AND OFFER HIM A CASE OF HEINEKEN, HE WILL AGREE TO GIVE ME THE RIGHT TO QUIET.

IF I HAVE THE RIGHT TO QUIET, HE WILL BE UNABLE TO CONVINCE ME TO ALLOW THE EARLY TUNE UP.

THE LESSON FROM THIS VIEWPOINT 

THE GOVERNMENT CAN GO FAR IN SOLVING INEFFICIENCIES ASSOCIATED WITH EXTERNALITIES BY ASSIGNING ALL RELEVANT RIGHTS IN WAYS THAT MINIMIZE THE COSTS OF BARGAINING AND ALLOWING TRANSFERS OF THOSE RIGHTS

ILLUSTRATION OF HOW THE ABSENCE OF OWNERSHIP IS AN IMPEDIMENT TO A BARGAINING SOLUTION TO EXTERNALITIES


EXAMPLE - CONGESTION EVERGREEN POINT BRIDGE

THE RIGHTS TO USE OF THE BRIDGE ARE OBTAINED BY USING

DRIVERS CONTINUE TO ENTER THE ROAD AS LONG AS THE VALUE TO THE INDIVIDUAL EXCEEDS THE COST TO THE INDIVIDUAL

IF PROFESSOR LEFFLER OWNED THE BRIDGE - 

EFFICIENT SOLUTION WOULD RESULT 

OTHER EXAMPLES OF THE ABSENCE OF OWNERSHIP LEADING TO EXTERNALITIES

- FISHING 

- BLACK BERRIES ON THE TRAIL

- AIR THAT IS POLLUTED

NUMERICAL EXAMPLE OF THE CONGESTION PROBLEM

EVERGREEN POINT BRIDGE

NUMBER      COMMUTE
                      TIME             VALUE        


USERS             TIME (MIN)                      SAVED            SAVED (10¢/min)
1000
      

20


10000

$1000

2000


22


16000

$1600
3000


25


15000

$1500

4000


30


     0

5000


38
ALTERNATIVE COMMUTE ROUTES 30 MINUTES

PRIVATE SOLUTION?
EFFICIENT SOLUTION?
??IF WE CUT THE BRIDGE USE FROM 4000 TO 3000 AREN’T SOME COMMUTERS HURT?

NUMERICAL EXAMPLE OF THE FISHING PROBLEM

NUMBER
          CATCH 
   TOTAL          MARGINAL 

FISHERS             EACH            CATCH        CATCH EACH

1000
               5
       5000 
 5


2000
               4
       8000
 3

3000
               3                      9000                    1 

4000
               2                      8000

5000
               1                      5000

OPPORTUNITY COSTS = 2


PRIVATE SOLUTION? 

EFFICIENT SOLUTION?
EFFECTS ON FUTURE CATCH?

